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2014年职称英语考试《卫生类C级》模拟试题四

第1部分：词汇选项(第1～15题，每题1分，共15分)

下面每个句子中均有1个词或者短语划有底横线，请为每处划线部分确定l个意义最为接近的选项。

1 We are certain that he will get over his illness. 
A. sure    B. happy    C. surprised    D. excited 

2 A research center has been set up in this country. 
A. praised    B.  established    C. reformed    D. criticized 

3 If headaches only occur at night, lack of fresh air is often the cause.   
A. deliver    B. fall    C. happen    D. arrive 

4 The ice is not thick enough to bear the weight of a tank. 
A. suffer    B.  accept    C. receive    D. endure 

5 A small number of firms have stopped trading. 
A. hotels    B. shops    C.  restaurants    D. companies 

6 Jack was dismissed．
A. fired    B. fined    C. exhausted    D. criticized 

7 John is crazy about pop music．
A. sorry    B. mad    C. concerned    D. worried 

8 It is the movement, not the color, of objects that excites the bull. 
A. frightens    B. scares    C. arouses    D. confuses 

9 It is highly unlikely that she will arrive today. 
A. probably    B. very    C.  hardly    D. possibly 

10 I am feeling a lot more healthy than I was. 
A. a bit    B. no    C. much    D. some 

11 He decided to quit smoking because of his cough.
A. take up    B. put up    C.  set up    D. give up 

12 The pay of this job is somewhat lower than other jobs. 
A. much    B. very    C.  a little    D. less 

13 When the millionaire died, his son was left a lot of wealth. 
A. luck    B.  resource    C. property    D. formation 

14 The behavior is stemmed from his idea．
A. flows    B. comes    C. watches    D.  observe 

15 The price of this machine is not reasonable. 
helpful    B. kind    C. fair    D.  Effective

第2部分：阅读判断(第16～22题，每题1分，共7分) 

下面的短文后列出了7个句子，请根据短文的内容对每个句子做出判断；如果该句提供的是正确信息，请选择A；如果该句提供的是错误信息，请选择B；如果该句的信息文中没有提及，请选择C。

The Race into Space  

American millionaire Dennis Tito will always be famous. He was the first tourist in space. " I spent sixty years on Earth and eight days in space and from my viewpoint, it was two separate lives," Tito explained．He loved his time in space. "Being in space and looking back at earth is one of the most rewarding experiences a human being can have. " 

This kind of experience isn't cheap. It cost $20 million. However, Tito achieved his dream, so he was happy. " For me it was a life dream. It was a dream that began when I didn't have any money," he told reporters. 

On 30 April 2002, Mark Shuttle worth became the word's second space tourist. Shuttle worth is a South African businessman. At the age of twenty-eight, he also paid $ 20million for the eight day trip. 

Both Tito and Shuttle worth bought their tickets from a company called Space Adventures. The company has around 100 people already on their waiting list for flights into space. The spaceship to take them doesn't exist yet. 

Many of the customers are people who like adventure. They are the kind of people who also want to climb Mount Qomolangma．Other customers are people who love space.However, these people are worried．Because it's so expensive, only very rich people can go into space. They want space travel to be available to more people. 

That day may soon here. Inter Orbital Systems (IOS) plans to send up to four tourists aweek into space. The tours will depart from an island in Tonga．The company promises a package that includes forty-five days of astronaut training in Russia and California, seven days in space, and a vacation in Tonga for $ 2million. 

However,space flight is still very dangerous. Bill Readdy is NASA's deputy assistant administrator for space flight. He says that the Chances of dying are about 1 in 500. Because of this it may take time before space tourism really takes off. You might be able to go up, but will you come down? 

Dennis Tito was the first tourist in space.
A. Right    B. Wrong    C. Not mentioned 

17 Mark Shuttle worth is an engineer from the United States. 
A. Right    B. Wrong    C. Not mentioned 

18 Both Tito and Shuttle worth have climbed Mount Qomolangma．
A. Right    B. Wrong    C. Not mentioned 

19 Space Adventures has about l00 customers waiting for their travel into 

space. 
A. Right    B. Wrong    C. Not mentioned 

20 Space　Adventures already has a spaceship. 
A. Right    B. Wrong    C. Not mentioned 

21 IOS will send its tourists into space from Tonga．
A. Right    B. Wrong    C. Not mentioned 

22 Bill Readdy thinks that space flight is very dangerous. 
Right   B. Wrong    C. Not mentioned

第3部分：概括大意和完成句子(第23～30题，每题1分，共8分) 

下面的短文后有2项测试任务：(1)第23～26题要求从所给的6个选项中为指定段落每段选择1个小标题；(2)第27～30题要求从所给的6个选项中为每个句子确定1个最佳选项。

English and English Community  

1. There is no doubt that English is a useful language. The people who speak English today make up the largest speech community in the world with the exception of speakers of Chinese. 

2. A speech community is similar to other kinds of communities. The people who makeup the community share a common language. Often they live side by side, as they do in a neighbor- hood (街坊), a village, or a city. More often they form a whole country. National bound- aries, however, are not always the same as the boundaries of a speech community. A speech community is any group of people who speak the same language no matter where they happen to live. 

3. We may say that anyone who speaks English belongs to the English speech community. For convenience (方便) we may divide the speakers into two groups:one in which the speakers use English ~ s their native language, the other in which the speakers learn English as a second language for the purpose of education, commerce, and so on. 

4.Learning a second language extends one's vision and expands the mind．The history and literature of a second language record the real and fictional (虚构的)lives of people and their culture; a knowledge of them adds to our ability to understand and to feel as they feel. Learning English as a second language provides another means of communication through which the window of the entire English speech community becomes a part of our heritage. 

23 Paragraph 1 __________
24 Paragraph 2 __________
25 Paragraph 3 __________
26 Paragraph 4 __________
Threat Posed by English

B. Definition of a Speech Community

C. Benefits of Learning a Second Language

D. Advantages of Learning Chinese

E. Two Groups of the English Speech Community

F. A Widely Used Language

27 Overall there are more speakers of Chinese than of __________
28 The boundaries of a speech community may be different from __________
29 People who live in different places may belong to __________
30 Many people learn English as __________
a second language

B. the same language

C. the same speech community

D. any other language

E. national boundaries

F. a part Of one’S heritage

    第4部分：阅读理解(第31～45题，每题3分，共45分) 
下面有3篇短文，每篇短文后有5道题。请根据短文内容，为每题确定l个最佳选项。

U. S.Blacks Hard-hit by Cancer 

Death rates for cancer are falling for all Americans, but black Americans are still more likely to die of cancer than whites, the American Cancer Society said Monday. 

In a special report on cancer and black, the organization said blacks are usually diagnosed with cancer later than whites, and they are more likely to die of the disease. This could be because of unequal (不平等的) access to medical care, because blacks are more likely to have other diseases as well,and perhaps because, of differences in the biology (生手学)of the cancer itself, the report added．

"In general, black Americans have less hope of surviving five years after diagnosis than whites for all cancer sites and all stages of diagnosis," the report said．

"In describing cancer statistics for black Americans, this report recognizes that many of the differences associated with race may be caused by unfair social and economic differences and unequal access to medical care. " 

The cancer society said blacks should be encouraged to get check-ups (体格检查) earlier, when cancer is more treatable, and it said more research is needed to see if biological differences play a role. 

"The new statistics emphasize the continuing importance of wiping out these unfair social differences through public policy and education efforts, " the organization said in a statement. 

But it also noted a drop in cancer death rates. "Cancer death rates in both sexes for all sites combined have dropped greatly among black Americans since 1992,as have incidence rates (发生率), " said the report. 

31 Black Americans are more likely to die of cancer than

A. people in other countries
B. white Americans
C. all other Americans
D. their ancestors

32 Which may NOT be a reason for higher cancer death rates among US blacks? 
A. Unequal access to medical care.
B. Greater probability of having other diseases.

C. Differences in the biology of the cancer.
D. Early diagnosis. 

33 Cancer is more treatable if it is detected 
A. in an early stage
B. in alate stage
C. all of a sudden
D. together with other diseases 

34 Public policy and education efforts may help to do away with 
A. death rates
B. various cancers
C. unfair social differences
D. biological differences 

35 Since1992, cancer death rates among black Americans 
A. have been going up and down
B. have remained stable
C. have increased
D. have fallen

What's Wrong With Today's Marriage  

Is there something seriously wrong with marriage today? During the past 50 years, the rate of divorce in the United States has exploded: almost 50% of marriages end in divorce now, and the evidence suggests it is going to get worse. If this trend continues, it will lead to the breakup of the family, according to a spokesperson for the National Family Association. Some futurists predict that in 100 years, the average American will marry at least four times, and extramarital (婚外的)affairs will be even more common than they are now. 

But what are the reasons for this, and is the picture really so gloomy (阴暗的)?The answer to the fast question is really quite simple: marriage is no longer the necessity it once was. The institution of marriage has been based for years partly on economic need．Women used to be economically dependent on their husbands -- as they usually didn't have jobs outside the home. But with the rising number of women in well-paying jobs, this is no longer the case, so they don't feel that they need to stay in a failing marriage. 

In answer to the second question, the outlook may not be as pessimistic (悲观的)as it seems. While the rate of divorce has risen, the rate of couples marrying has never actually fallen very much, so marriage is still quite popular. In addition to this, many couples now simply live together and don't bother to marry. These couples are effectively married, but they do not appear in either the marriage or divorce statistics. In fact, more than 50% of first marriages survive. 

So is marriage really an outdated institution? The fact that most people still get married indicates that it isn't. And it is also true that married couples have a healthier life than single people: they suffer less from stress and its consequences, such as heart problems, and married men generally consider themselves more dependent than their single counterparts. Perhaps the key is to find out what makes a successful marriage and apply it to all of our relationships! 

36 Which of the following is true about the marriage in the United States today ?
A. Divorce leads to the breakup of the family.
B. More than half of the married couples get divorced．
C. American people marry more than four times.
D. More and more people are getting divorced．

37 What　does "this is no longer the case" in paragraph 2 mean? 
A. Women are not economically dependent any more.
B. It is not necessary to get married any more.
C. Women do not need a husband any longer.
D. Many wives do well-paying jobs outside home now. 

38 Why is the outlook of marriage riot as hopeless as it appears? 
A. Many people still like to get married．
B. The rate of divorce has actually decreased．
C. Over 60% of the marriages continue to exist.
D. The statistics of divorce is reliable. 

39 How do most men feeling their marriage life? 
A. They feel much stronger than before.
B. They don't feel as lonely as before.
C. They suffer more than before.
D. They feel more satisfied than being single. 

40 Which of the following about marriage is NOT mentioned in the passage? 

A. It is important to discover what makes a marriage successful.
B. Marriage has long been partly an economic need．
C. It is a fact that most people choose to get married．
D. Many people went abroad after divorce.

The Changing Middle Class  

The United States perceives itself to be a middle-class nation. However, middleclass is not a real designation, nor does it carry privileges (特权).It is more of a perception, which probably was as true as it ever could be right after World War II. The economy was growing, more and more people owned their own homes, workers had solid contracts with the companies that employed them, and nearly everyone who wanted a higher education could have one. Successful people enjoyed upward social mobility. They may have started out poor, but they could become rich. Successful people also found that they had greater geographic mobility. In other words, they found themselves moving to and living in a variety of places. 

The middle class collectively holds several values and principles. One strong value is the need to earn enough money to feel that one can determine one's own economic fate. In addition, middle-class morality (道德观)embraces principles of individual responsibility, importance of family,obligations to others, and believing in something outside oneself. But in the 1990s those in the middle class found that there was a price for success. AU. S. News & World Report survey in 1994 indicated that 75 percent of Americans believed that middle class families could no longer make ends meet.Both spouses now worked, as did some of the children; long commutes became routine; the need for child care put strains on the family; and public schools were not as good as they once were. Members of the middle class were no longer financing their lifestyles through earnings but were using credit to stay afloat. The understanding of just what middle class meant was changing. 

41 This passage gives information about
A. asocial and economic group

B. an individual
C. apolitical organization
D. a government department 

42 In the years after World War II, the middle class were 
A. overburdened and in debt
B. hardworking and doubtful
C. happy and full of hope
D. Young and upset 

43 One important middle-class value is that 
A. people should always have fun
B. children should believe in themselves
C. debt is nothing to worry about

D. they should earn enough to finance their lifestyles 

44 In the second paragraph, the word "collectively" means 
A. hesitatingly

B. unknowingly
C. weakly
D. commonly 

45 The1994 survey showed most Americans thought the middle class 
A. took pleasure in raising children
B. had are gular journey to work
C. could not earn enough money to maintain their lifestyles
D. could easily maintain their lifestyles

第5部分：补全短文(第46～50题，每题2分，共10分) 

下面的短文有5处空白，短文后有6个句子，其中5个取自短文，请根据短文内容将其分别放回原有位置，以恢复文章面貌。46 回答46-50题：

My Life at Renda  

I learned very quickly that being a teaching assistant (TA) at the University of Iowa would be different from being a teacher at Renmin University. (46) Eyes stating, mouths open, students examined my big nose, while I was writing my name on the blackboard．

At Iowa, when my first classes began, half of my students still hadn't arrived．When everyone finally found a seat, ringing cellphones and loud yawns (哈欠) interrupted my opening remarks. It is not that American students were disrespectful. (47) They were, however, far more skeptical than the students I had at Renda．The truth is I couldn't fault them for their skepticism. Undergraduates at large US universities --especially freshmen and sophomores -- often have several classes a semester handled by Tas. In some cases, the TA sets the course content. (48) Most have good intentions, but very few are as effective as professors. 

Every teacher has to confront obstacles to learning -- no matter what the culture.Students who talk during lecture, students who cheat, students who question the grade they get for a paper or project -- dealing with these is all part of the job．(49) 

The difference, I think, is that in the US I had to swallow more of my pride. (50) I had a responsibility to teach them, of course, but I had to do so indirectly -- as a guide who himself had a few things to learn from the students. 

A．In my students' minds, I had little to offer them, except perhaps some sample questions for the mid-term exam. 

B．In others, the TA works as a grader and discussion leader. 

C．I encountered these in China, and I faced them in the US. 

D．On the other hand, being taught by a graduate student is not necessarily bad．

E．Most were polite, or at least, indifferent. 

F．Back at Renda, I had walked into my first classes feeling like a celebrity.

46题 _________47题 _________48题 _________49题 _________50 题_________

第6部分：完形填空(第52～65题，每题1分，共15分) 

下面的短文有l5处空白，请根据短文内容为每处空白确定l个最佳选项。51 

What Is Cancer?  

Cancer is actually a group of many related diseases that all have to do with cells. Cells are the very small units that make up all (51) things, including the human body. There are billions of cells (52 ) each person's body. Cancer happens when cells that are not normal grow (53) spread very fast.Normal body ceils grow and divide and know when to stop growing. Over time,they also die. (54) these normal cells, cancer cells just continue to grow and divide out of control and don't die. Cancer cells usually group together to form tumors (肿瘤). 

A growing tumor becomes a lump of cancer cells (55) can destroy the normal cells around the (56) and damage the body's healthy tissues. This can make someone very (57) 

Sometimes cancer cells break away from the original tumor and travel to other areas of the (58) , where they keep growing and can go on to form new tumors.This is how cancer (59) The spread of a tumor to a new place in the body is (60) metastasis (转移)People with cancer may feel pretty sick at times -- but Call usually still do lots of normal things. (61) they are very sick, kids and teenagers with cancer may still be able to go to school.They may be tired or bruise (出现青肿) easily, but they (62) sometimes go to camp, movie, and sleepover (在外过夜的) parties. People with cancer still like the same things they did (63) they got sick. 

Cancer in kids is rare -- but today, many kids who do get cancer go on living normal lives.The number of kids who beat cancer goes (64) every year because of new cancer treatments.So a lot of kids with cancer will some day drive cars, go to college, have careers, and even get (65) and have families of their own. 

51 A. living     B. nice      C. big     D. whole 

52 A. by        B. in       C. with     D. at 

53 A. or        B. but      C. and      D. though 

54 A. Unlike    B. Like     C. After     D. Without 

55 A. who      B. what     C. where    D. which 

56 A. shape     B. tumor    C. thing     D. group 

57 A. sick      B. rich      C. mild     D. active 

58 A. country   B. body     C. cell      D. place 

59 A. spreads   B. turns     C. moves    D. travels 

60 A. said      B. supposed  C. known   D. called 

61 A. In case   B. Because   C. Unless   D. If 

62 A. can      B. must     C. should    D. need 

63 A. before    B. after     C. once     D. while 

64 A. down     B. by       C. up      D. forward 

65 A. fired    B. married    C. joined    D. Upset

参考答案与解析

第1部分：词汇选项

1【答案】:A 【题干】我们确定他会从疾病中康复的。A．确定的    B．高兴的，幸福的 C．吃惊的    D．兴奋的 

 【解析】考查形容词。划线词certain意为“确定的，当然的”，与sure同义，所以答案为A。 

2【答案】:B 【题干】研究中心已经在这个国家建立起来了。A．赞扬    B．建立，成立  C．改革    D．批评 

 【解析】考查动词短语。划线词set up意为“建立，成立”，与establish同义，所以答案为B。 

3【答案】:C 【题干】如果头痛仅仅发生在晚上，那么缺乏新鲜空气通常是原因，A．投递，发表  B．落，降落    C．发生    D．到达 

 【解析】考查动词。划线词0ccur意为“发生”，与happen同义，所以答案为C。 

4【答案】D 【题干】这块冰不够厚来承受坦克的重量。A．遭遇    B．接受    c．收到    D．忍受，忍耐 

 【解析】考查动词。划线词bear意为“忍受，承受”，与endure在语义上接近，所以答案为D。 

5【答案】D 【题干】少数公司已经停止交易。A．宾馆    B．商店    C．饭店    D．公司 

 【解析】考查名词。划线词firm作名词意为“公司”，作形容词意为“坚定的，严格的”，与company同义，所以答案为D。 

6【答案】:A 【题干】杰克被解雇了。A．解雇    B．罚款    C．耗尽    D．批评 

 【解析】本题考查动词。划线单词dismiss的意思是“解散、解雇”，与fire意思相同。故本题选A。fire做动词还有“开火”的意思。 

7【答案】:B 【题干】约翰对流行音乐很疯狂。A．抱歉的    B．疯狂的    C．关注的    D．担心的 

 【解析】本题考查形容词。划线单词crazy的意思是“疯狂的”，与mad意思相近，故本题选B。 

8【答案】C 【题干】正是物体的行动而不是颜色，会使公牛变得兴奋。A．使害怕    B．使害怕    C．激发    D．使迷惑 

 【解析】本题考查动词。划线单词excite的意思是“使……兴奋”，与arouse的意思相近，故本题选C。 

9【答案】:B 【题干】她今天到达，这是非常不可能地。A．可能地    B．十分    B．几乎不    D．可能地 

 【解析】本题考查副词。划线单词highly的意思是“十分，非常”，与very的意思相近。故本题选B。 

10【答案】:C 【题干】我感觉比过去健康多了。A．一点    B．不，没有    c．很，非常    D．一些 

  【解析】本题考查副词。划线词组a lot可以修饰形容词或者副词，表示程度“很，非常”，与very意思相同。故本题选C。 

11【答案】:D 【题干】他决定放弃吸烟，因为他的咳嗽。A．放弃    B．举起，挂起  C．建立    D．从事，占据 

  【解析】本题是对动词的考查。题干划线词quit意为“放弃，辞职”，与give up同义，所以答案为D。 

12【答案】:C 【题干】这份工作的报酬相比其他工作的报酬有点低。A．许多    B．非常    C．一点    D．更少 

  【解析】本题是对副词的考查。题干划线词somewhat意为“有点”，与a little同义．所以正确答案为C。 

13【答案】:C 【题干】当那个百万富翁去世的时候，留给他儿子很多财产。A．运气    B．资源    C．财产    D．形成 

  【解析】本题是对名词的考查。题干划线词wealth意为“财产，财富”，与 property在语义上同义，所以正确答案为C。 

14【答案】:B 【题干】这种行为源于他的观念。A．流    B．来    C．观察    D．观察 

  【解析】本题是对短语的考查。题干划线词be stemmed from意为“源自”，在语义上与come接近，所以正确答案为B。 

15【答案】:C 【题干】这个机器的价格不合理。A．有帮助的    B．好心的，善良的 

C．公平的，公道的    D．有效的 

  【解析】本题是对形容词的考查。题干划线词reasonable意为“合理的，公道的”，在语义上与fair接近，所以正确答案为C。

第2部分：阅读判断

16【答案】A 【题干】Dennis Tit0是第一位太空游客。A．正确    B．错误    C．未提及 

  【解析】利用题干关键词Dennis Tito以及the first可以定位到文章的第一段第二句话“Dennis Tito是第一位到太空的游客”。题干与原文信息相符，因此本题的答案为A。 

17【答案】B 【题  干】Mark Shuttle worth是一位来自美国的工程师。A．正确    B．错误    C．未提及 

  【解析】利用题干关键词Mark Shuttle worth可以定位到第三段的第二句话“Mark shuttle worth是一位南非商人”。题干与原文信息不符，因此本题答案为B。 

18【答案】C 【题干】Tit0和Shuttlewolth都攀登过珠穆朗玛峰。A．正确    B．错误    c．未提及 

  【解析】利用关键词Tit0、Shuttlewolth和Qomolangma进行定位，文章没有涉及二人攀登珠穆朗玛峰的信息，故而本题答案为C。 

19【答案】:A 【题干】太空冒险公司有大约100名顾客等待去太空旅行。A．正确    B．错误    C．未提及 

  【解析】利用数字l00可以定位到文章第四段第二句“这家公司已有约一百人在等待飞往太空的名单上登记。”题干与文章内容相符，因此本题答案为A．

20【答案】:B 【题干】太空探险公司已经拥有一架宇宙飞船。A．正确    B．错误    C．未提及 

  【解析】利用题干关键词Space Adventures和spaceship可以定位到文章第四段最后一句，“携带他们的宇宙飞船还没出现”。题干与原文意思不相符，所以本题答案为B。 

21【答案】:A 【题干】太空轨道传送公司将从汤加群岛送它的游客进入太空。A．正确    B．错误    C．未提及 

  【解析】利用题干关键词IOS和Tonga定位到文章第六段第二句和第三句，“太空轨道传送公司计划每周送4名旅行者进入太空。旅行将从汤加群岛的一个岛屿出发”。题干与文章内容相符，故而本题答案为A。 

22【答案】:A 【题  干】Bill Readdy认为太空航行是非常危险的。 

  【解析】利用题干关键词Bill Readdy可以定位到文章最后一段，“太空旅行依然是非常危险的……Bill Readdy指出太空旅行的死亡率是1／500，正是由于这一点，也许太空旅行真正启程尚需时日”。因此可以推断出Bill Readdy认为太空飞行非常危险。题干与文章内容相符，所以本题答案为A。

第3部分：概括大意和完成句子

23【答案】F 【题干】第一段的段落大意为__________。 

  【解析】第一段没有明显的主题句。该段介绍说英语是非常有用的语言，世界上除了汉语之外，应用最广的就是英语了。所以答案为F(广泛使用的语言)。 

24【答案】:B 【题干】第二段的段落大意为__________。 

  【解析】第二段没有明显主题句，但文章第二段主要讲的是什么是“a speech community”，所以答案为B(语言社区的定义)。 

25【答案】:E 【题干】第三段的段落大意为__________。 

  【解析】文章第三段的主题句为第二句“For convenience(方便)，we may divide the speakers into two groups”，即将“the English speech community”分为两组，所以答案为E(英语语言社区的两个小组)。 

26【答案】:C 【题干】第四段的段落大意为__________。 

  【解析】文章第四段的主题句为首句“Learning a second language extends one’s vision and expands the mind．”，即“学习第二语言可以开闰眼界和拓展心智”，由此可知答案为C(学习第二语言的益处)。 

27【答案】D 【题干】整体来说，说汉语的人比说__________的人多。 

  【解析】利用关键词speakers of Chinese可以定位到文章第一段，由此可知说汉语的人比说任何其他语言的人都要多，所以答案为D。 

28【答案】:E 【题干】语言社区的界限不同于__________。 

  【解析】利用关键词boundaries of a speech community可以定位到文章第二段 “National boundaries。however，are not always the same as the boundaries of a speech community”，即“国家的边界与语言社区的界限有所不同”，所以答案为E。

29【答案】:C 【题千】住在不同地方的人们可能属于__________。 

  【解析】利用关键词live indifferent places可以定位到第二段“A speech community is any group of people who speak the same language no matter where they happen to live”，即“不管住在哪里，说同样语言的人属于一个语言社区”。所以答案为C。 

30【答案】:A 【题干】许多人将学习英语当做__________。 

  【解析】从文章通篇来看，许多人将英语作为第二语言来学习，所以答案为A。 

第4部分：阅读理解【答案】B 【题干】美国黑人比    更可能死于癌症。A．其他国家的人    B．美国白人 C．所有其他美国人    D．他们的祖先 

  【解析】细节题。利用题干关键词black Americans和die of cancer可以定位到文章第一段“black Americans ale still more likely to die of cancer than whites”。即“美国黑人比美国白人更可能死于癌症”，所以答案为B。 

32【答案】:D 【题干】下列哪项不是美国黑人高癌症死亡率的原因?A．医疗机会的不均等    B．患其他病的较高概率 C．癌症生物学方面的差异    D．早期的诊断

  【解析】细节题。通过定位选项关键词，可以定位到文章第三段“This could be because of unequal(不平等的)access to medical care，because blacks are more likely to have other diseases as well，and perhaps because of differences in the biology(生物学)of the cancer itself”，即“这可能是因为医疗机会的不均等，或者因为黑人更容易得其他病，或因为癌症在生物学上的差 异”。由此可知，A、B、C在文中都提到了，所以答案为D。 

33【答案】:A 【题干】癌症是更可以治疗的，如果它__________被检测到。A．在早期    B．在晚期    C．突然    D．和其他病一起 

  【解析】细节题。利用题干关键词treatable和detect可以定位到文章的第五段“The cancer society said blacks should be encouraged to get check—ups earlier，when cancer is more treatable…”，即“癌症协会说黑人应该被鼓 励早点检查，当癌症比较容易治疗的时候”。由此可以得知，癌症越早发现越有利于治疗，所以答案为A。 

34【答案】:C 【题干】公共政策和教育的努力可能有助于解决__________。A．死亡率    B．不同的癌症 C．不公平的社会差异    D．生物学差异 

  【解析】细节题。利用题干关键词public policy和education可以定位到文章的第六段“The new statistics emphasize the continuing importance of wiping out these unfair social differences through public policy and education efforts”，即“新的数据强调通过公共政策和教育来消除不平等的社会差异的重要性”。由此可知，答案为C。 

35【答案】D 【题干】自1992年以来，美国黑人的癌症死亡率__________。A．上下起伏  B．保持稳定    C．增加了    D．减少了 

  【解析】细节题。利用题干关键词1992和cancer death rate可以定位到文章的最后一段“Cancer death rates in both sexes for all sites combined have dropped greatly among black Americans since 1992”，即“自1992年以来，美国黑人的癌症死亡率下降了”。由此可知，答案为D。

36【答案】:D 【题干】下列关于现今美国社会婚姻状况的说法哪些是正确的?A．离婚导致家庭破裂。    B．一半多的已婚夫妇离婚了。 C．美国人结婚次数超过4次。    D．越来越多的人要离婚。

  【解析】细节题。由关键词marriage一词定位到文中第一段第二句“在过去的50年里，美国的离婚率暴增，50%的家庭都以离婚为结局。”因此D选项意思最为接近，故为正确答案。 

37【答案】:A 【题干】this is no longer the case的意思是__________。A．女性经济上不再依赖 B．没有必要结婚了 C．女性不再需要丈夫 D．很多妻子现在做的工作报酬很好 

  【解析】词汇题。定位到文章第二段，以前的结婚基础是对经济的需求，而现在越来越多的女性拥有薪资较高的工作，也就不再维持一个失败的婚姻。所以A选项为正确选项。 

38【答案】:A 【题干】为什么婚姻暴乱这种观点是不切实际的呢?A．很多人仍然愿意结婚。 B．离婚率实际下降了。 C．超过60%的婚姻仍然存在。 D．离婚的统计数据是可靠的。 

  【解析】细节题。由outlook和hopeless定位到第三段第二句“虽然离婚率增高了，但是夫妻的结婚率没怎么下降，因此结婚还是很流行的”，故A为正确选项。 

39【答案】:D 【题干】男人感觉婚姻生活怎么样?A．他们觉得比以前更强壮    B．他们觉得不那么寂寞了 C．他们比以前更痛苦    D．他们觉得比单身的时候更满足 

  【解析】细节题。第四段第二句有相关信息“已婚男人普遍认为比起单身生活他们更满足”。很显然，D选项为正确答案。 

40【答案】:D 【题干】下列关于婚姻的陈述哪些没有在文章中出现?A．发现使婚姻成功的秘诀很重要。 B．婚姻长时间以来在一定程度上是一种经济需求。 C．事实上很多人选择结婚。 D．很多人离婚后会出国。 

  【解析】词汇题。A选项出现在文章最后一句，B选项在第二段第三句有相应表述，C选项在第三段第二句有相应表述，D选项内容没有出现，故为正 确答案。 

41【答案】A 【题干】本文的信息是关于__________。A．社会和经济群体    B．个人 C．政治组织    D．政府部门 

  【解析】主旨题。根据题目可知本文讲述美国的中产阶级。从首段可知，这个阶层是从社会和经济角度来描述的群体。因此A为正确选项。

42【答案】:C 【题干】二战后，中产阶级__________。A．压力过大，负债累累 B．努力劳作，疑心重重 C．高高兴兴，充满希望 D．年纪轻轻，忧心忡忡 

  【解析】细节题。根据时间状语回到原文定位，可知第一段有相关答案：当时美国经济不断增长并且人们生活水平有了提高，因此C为正确选项。 

43【答案】:D 【题干】一个重要的中产阶级价值观是__________。A．人们应该一直很开心 B．孩子们应该有自信 C．不用担心债务 D．他们应该挣足够的钱来支持自己的生活方式 

  【解析】细节题。从第二段第二句可知，一个重要的中产阶级价值观是他们可以挣足够的钱来决定自己的经济命运。因此D为正确答案。 

44【答案】:D 【题干】第二段的collectively的意思是__________。A．犹豫地    B．无知地    C．软弱地    D．普遍地 

  【解析】词汇题。该词由collective(集体的)而来，与common含义类似，因此其副词形式与D含义相近。 

45【答案】:C 【题干】1994年的研究证明大多数美国人认为中产阶级__________。A．以抚养孩子为乐 B．上班行程都一样 C．挣钱不够，难以维持生活 D．轻易地就能维持生活 

  【解析】细节题。由时间1994回到原文定位，可知最后一段有答案：75%的美国人认为中产阶级不能make ends meet(收支相抵)，故选C。 

第5部分：补全短文

46【答案】FA．在学生的眼里，除了一些关于期中考试的问题，我能给予他们的东西很少。 B．或者，有些助教作为打分员或者讨论组组长。 C．我在中国碰到过这种情况，在美国亦然。 D．另一方面，被毕业生教课并不一定是坏事。 E．大部分是有礼貌的，或者至少是中立的。 F．当我回到人民大学，我感觉就像一个名人一样登上了讲台。  【解析】空白处的前一句讲我发现在爱荷华州大学当助教和在人民大学当老师是不同的。而空白处后一句讲同学们在“我”往黑板上写名字的时候的惊讶表现。因此F选项(当我回到人民大学，我感觉就像一个名人一样登上了讲台)符合语境，所以F选项正确。 

【考点延伸】空白处所填的内容与空白处前后的句子在主语上保持一致性。 

47【答案】:E  【解析】空白处的前一句讲并不是美国学生不尊重老师，后一句应该进一步说明美国学生只是比人民大学的学生更具质疑精神，所以空白处填入的是美国学生对老师的态度，因此E(大部分是有礼貌的，或者至少是中立的D选项正确。 

【考点延伸】空白处所填的内容与空白处前后的句子在内容上保持一致性。 

48【答案】:B  【解析】空白处的前一句讲有些情况下，助教确定课程的内容。空格处的后一句讲大部分是好的想法，但只有少数能像教授所选择的那样有效。很显然，空格处还是讨论助教和教授确定课程一类的问题，因此B(或者，有些助教作为打分员或者讨论组组长)为正确选项。 

49【答案】:C  【解析】空白处前一句主要讲每个老师在教学的时候都会遇到各种各样的困难。选项中只有C(我在中国碰到过这种情况，在美国亦然)衔接上文，因此为正确选项。 

50【答案】:A  【解析】空白处前一句讲我认为区别在于在美国我不得不放下我的骄傲。空白处后一句讲我有责任教他们，当然我做得很间接，因为我是一个也需要从学生身上学东西的指导者。可知，空白处填入的内容应该与师生相互关系有关，所以选项A(在学生的眼里，除了一些关于期中考试的问题我能给予他们的东西很少)符合语境。 

第6部分：完形填空

51【答案】:A 【题干】细胞是构成所有__________物的极小单位。A．活的，存活的B．好的    C．大的    D．整个的 

 【解析】考查词汇。四个选项分别代入后，living things(生物)比较符合语境，所以答案A。 

52【答案】:B 【题干】在人们身体__________有十亿个细胞。A．通过，在……附近    B．在……里 C．随着，和    D．在…… 

  【解析】考查介词。四个选项分别代入后，in the body(身体之内)比较符合语境，所以答案为B。 

53【答案】C 【题干】当那些不正常的细胞快速地生长__________传播的时候，癌症就发生了。A．或者    B．但是    C．和，并且    D．尽管，虽然 

  【解析】考查词汇。根据上下文语境，“grow”与“spread”应当是并列关系，所以答案为C。 

54【答案】:A 【题干】__________正常细胞，癌症细胞会继续生产，失控地进行分配，并且不会死亡。A．不像    B．像    C．在……之后  D．没有 

  【解析】考查介词。根据上下文，癌细胞与正常细胞不一样，因此应选“Unlike”，所以答案为A。 

55【答案】:D 【题干】生长的肿瘤变成癌症结块，这些结块会破坏__________周围的正常细胞，并破坏身体的健康组织。 

  【解析】考查定语从句，此处选项不做翻译。前面的“a lump of cancer cells”在后面的从句中做主语，所以用which引导，因而答案为D。 

56【答案】:B 【题干】生长的肿瘤变成癌症结块，这些结块会破坏__________周围的正常细胞，并破坏身体的健康组织。A．形状，状态B．肿瘤    C．事情    D．组织，小组 

  【解析】考查词汇。根据上下文，显然是破坏了肿瘤周围的正常细胞，所以答案为B．

57【答案】:A 【题干】这些结块会破坏肿瘤周围的正常细胞，并破坏身体的健康组织。这使人非常__________。A．病态的，恶心的    B．富裕的 C．温和的    D．积极的 

  【解析】考查词汇。根据上下文，一个人若体内的正常组织遭受到癌细胞的破坏，那他一定会感到“very sick”，所以答案为A。 

58【答案】:B 【题干】有时候，癌症细胞会脱离原来的肿瘤，而移动到__________的其他地方。A．国家    B．身体，机构  C．细胞    D．地点 

  【解析】考查词汇。根据上下文，肯定是转移到“身体”的其他部位，所以答案为B。 

59【答案】:A 【题干】有时候，癌症细胞会脱离原来的肿瘤，而移动到身体的其他地方，继续生长并形成新的肿瘤。这就是癌症如何__________。A．传播    B．转，翻    C．移动    D．旅行 

  【解析】考查词汇。根据上下文，这里讲的是细胞的扩散方式，所以spread比较 符合语境，因而答案为A。 

60【答案】:D 【题干】肿瘤扩散到体内的新地方是__________转移。A．说    B．假设 C．知道    D．叫，称呼，打电话 

  【解析】考查固定搭配。be called as意为“被称为”，be known as意为“以……而著称”，be supposed as意为“假设，应该”。根据上下文语境，be called as比较符合，所以答案为D。 

61【答案】C 【题干】__________他们非常不舒服，患有癌症的小孩和青少年仍旧可以去上学。A．以防，万一    B．因为 C．除非    D．如果 

  【解析】考查状语从句。四个选项分别代入后，unless比较符合语境，所以答案为C。 

62【答案】:A 【题干】他们可能会疲惫或者很容易出现青肿，但是他们有时候__________去参加野营、看电影以及参加在外过夜的聚会。A．能，可以  B．必须    C．应该    D．需要 

  【解析】考查情态动词。四个选项分别代入后，can比较符合语境，所以答案为A。 

63【答案】:A 【题干】患有癌症的人们仍旧喜欢做生病__________喜欢做的事情。A．在……之前    B．在……之后 C．一旦    D．当……时候，尽管 

  【解析】考查状语从句。四个选项代入后，before比较符合语境，所以答案为A。 

64【答案】:C 【题干】由于新的癌症治疗方法的出现，战胜癌症的孩子们的数量每年__________。 

  【解析】考查固定搭配。go down意为“下降”，go up意为“上升”，go by意为“经过”，go forward意为“发生，前进”。根据上下文语境，go up比较符合，所以答案为C。 

65【答案】:B 【题干】许多患癌症的孩子将来也可以开车、上大学、工作，甚至__________并拥有自己的家庭。A．开火，解雇B．结婚    C．参加，加入D．难过；颠覆 

  【解析】考查词汇。根据空格后面的内容，即“拥有自己的家庭”，可以推断空格处应填“结婚”一词．所以答案为B．

客服咨询热线：400-0809-163投诉及非工作时间:15601181943 值班电话：15801092031  15011368587

地址：北京市海淀区西三旗上奥世纪C座321—322号
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